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1.

Which method of evaluation 1s
effective  for assessment of
scholastic = and  other co-
scholastic areas ? ‘

(A) Placement
(B),~Comprehensive
(C) Aptitude

(D) Diagnostic

Which of the following is @ a

continuous assessment ?

- (A) Motivation

(B) Learning
(C) Development
() Growth

Which of the following is @
correct about creativity ? '

(A)
(B)

Creativity is universal.

Creativity 18 open

thinking/& adventurous.

(C) * Creativity ang sociability
- are positively correlateq.

(D) Creativity  anq school
achievement are ' not
correlated.
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Demand for
Learning

(B) Universal
Leadership

(C) Uniform
Learning

(D) Universal
Learning

Design for
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Inclusive education does @

believe in

(A) Accept difference and

celebrate diversity
(B) Diversity 1s 2 social
responsibility, accept it.

(Wearning individually 18
beneficial for every child.

(DyHandicap is a social
construct, deconstruct
handicap.

UDL stands for

(A) Universal Demand for
Learning

(B) Universal Design for
Leadership

(C) Uniform Design for
Learning

(19)) Universal Design for
Learning

According to Bandura, which of

the following is ‘hot g process 1n

the observational learning ?

(A Organising the behaviour

(B) Attending to and perceiving
the behaviour

(C) Remembering the behaviour

(D)\/.Convert‘ing the memory
1nto action
(Coritinued)
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Which of the following best

explains the meaning of

learning ?

(A) Learning is a construction
of knowledge.

(B~ Learning is a memorisation
of facts.

(C) Learning is a change due to

maturation.

(D) Learning is a change in
native tendencies.

Which  of the

behavioural

following
examples  best
illustrates  the concept of

motivation ?

(4), Paresh has shown steady
progress in his ability to
relate past and present

historical trex\lds.

(B) Sitanshu has increased his
practice time on the electric
guitar from one hour to two
hours per day.

(C) Rita has always shown g

keen interest and capacity

in the reading.
(D) Manisha long ago
developed the habit of

looking UP  unfamiljgy

words in the dictionary.
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Which of the following is @n

educational provision for
talented learners ?

(A) Accelerated education

(B) Small Group Instruction
(Cy>Enrichment Programme

Q) /Ability Grouping

Which pair iselated to the

three components of learning ?
(A{}Equis’ition — selection
(B) Acquisition — retention
(C) Acquisition — application

(D) Retention — application

following

statements does@ reflect the
nature of learning

(A) Learningis purposive.
(B) Learning is universal.

(C) Learningis adjustment.

(]i)/lrearning is memorisation

of facts.

To meet the diversity, we should
have

(A) Spiral curriculum
(B}nclusive curriculum

(C) Special curriculum

(D) Core curriculum
(Continued)
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What is the average time period

of pre-natal stage ?
(A) 350 days
(B) 320 days

(C) 310 days

(12_)/280 days

Name of the period lasts from

age of two to puberty is —
(A) Infancy

(87 Childhood

(Q)-Adolescence
(D) Adult

According to Palmer, behaviour

pattern of a child changes with

(A) Adulthood
(B) Infancy

(C) Climate

(D)‘\»Mgturity
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What is the average time period

of pre-natal stage ?
(A) 350 days
(B) 320 days

(C) 310 days

(Q)/280 days

Name of the period lasts from

age of two to puberty is —
(A) Infancy
(87" Childhood

(Q)-Adolescence
(D) Adult

According to Palmer, behaviour

pattern of a child changes with

(A) Adulthood
(B) Infancy

(C) Climate

DN Maturity
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Which of the following is an
external factor of growth and
development ?

(A) Environment in the womb

of a mother.
(B) Intelligence
(C) Emotional factor
(D) Biological factor

Which of the following is a
principle of development ?

(A) Head to feet

(B) Near to distant

(C) Principle of predictability
(D) f\I—)ﬁlciplé of discontinuity

18. According to Hurlock which of

19.

the following is (not) a

characteristic =~ of | Social

development during pre-

adolescence ?

( ders’ recommended
behaviour

(B) Social values

(C) Distribute toys among

peers
(D) Social behaviour

In which of human
development physical
development becomes slower ?

(A) Infancy

(R)_Pre-childhood
(C) Later childhood
(D) Adolescence

stage
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Which one comes under activity-
based approach ?

(A) Discussion Method
(B)\/Pl‘oject Method

(C) Practice Method

(D) Narration Method

In human zygote how many
pairs of chromosomes are found ?
(A) 20 pairs
(B) 22 pairs

(M3 pairs

(D) 24 pairs

What is the normal intelligence

range that most people possess ?
(A) 80 to 100 IQ

(B)90 to 110 IQ

(C) 100 to 120 I1Q

(D) 70to 100 IQ

What is the first

cognitive development ?

(A) \§erfsory motor stage

(B) Pre-operational stage

stage of

(C) Concrete operational stage

(D) Formal Operational stage
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Which one of the following is the

most important in learner-

centered learning ?
(A) Teacher

(B) Child
(C)y-Content

(D) Environment

Which one 1s @ related to
competency-based teaching-

learning ?
(A) A lesson is divided into
some smaller units.

(B) Competencies are arranged

_serially from simple to

complex.
(C) Each competency is based
on previous competency.

D) aching-leai‘ning of all

competencies is ~ done
simultaneously.
Why is there multigrade

teaching situation in elementary
schools ?

(A)  Want of classroom

(B) king teacher more active.

(C). Less number of teachers in
proportion to the number of

classes.
(D) Maintaining discipline
(Continued)
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27. Which one 13@ an assessme

28.

29.

30.

tool ?

(A) Checklist

(B) - Rating scale
(C) Progress card

(D\)/Homework
The use of TLM i associated

with :

(A) To make teaching learning
pleasurable.

(BWwer the course content
in time.

(C) To create motivation for

" learning.
D)

To teach concrete concept.

Continuous and comprehensive
assessment mainly aims at —

(Z\&)/Holistic development
(B) Scholastic development
(C) Cognitive development

(D) Conative development

What type of assessment is the
entrance test ?

(A) Summative
(B) Diagnostic

(C) Formative

(Dz\ylacement
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QY6Q QAR KQE 7
N -] (B) ®Ie

(C) Q& (D) 6o

6QAANER Ag QTS AAIR ?

A) JFNNY LB NS

By_ae 2AAIe AUQ QI8
6Q@YRYRA NG

(C) Q@ STINEQ 6AAANER U
@Qs3

(D) 2ALQA NY

OTET/P-1
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656. QoY

57.

58.

59.

60.
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quea 2eYe 964 9997

Q6 cod QadIE MeYe

6RIRaleq 91@ ?

A) 9@

(©) 2@

®) &°

-

(D) 9Q

Q°6AIIR 2D AT SORIA |

(B) Qe

@) qe

A) QLQI

(C) gl

6QQ0 F6aY 9 Q6% ?

@) Qee

(C) erI&

(B) @l

(D) <9ae

6QQ 995 ‘Q’ goIa 6QIGER G10S ?

(A)_®Q)
©) a8

(B) 6@g9

(D) Q@

QeI8 RIQ 69R dRT oFe

ge4YagIQl 910@ 6RIRRIT 7

A) 28 '(B) 2Ry
) a8 (D) gley
(Continued)
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Read the following passage and
answer the questions : (Q. 61 to 65)

Over the years, excavations of
Pompeii and Herculaneum have
revealed a great deal about the
behaviour of the volcano, Vesuvius,
eruption of which wreaked havoc on
these cities in 79 A.D. By analysing
data, scientists have concluded that
the eruption changed large portions
of the area’s geography. It turned the
Samo River from its course and
raised the level of the beach along the
Bay of Naples. Meteorologists
studying these events have also
concluded that Vesuvius caused a
huge tidal wave that affected the
world’s climate. In addition to these,
archaeologists have studied the
skeletons of the victims and have
drawn conclusions about the diet and
life-styles of the residents.

61. The impact of the volcanic
eruption was
(A) local
(B) global
(C) regional
(D)_beth local and global
62. Which of the following
statements 1s related to the
passage :
( olcanic eruption elevate
asea beach.
B) meletely destroyed
Pompeii and Herculaneum
(C) It changed the course.of a
river.
(D) It affected
climate.

OTET/P-1

the . global

!
|
L}
)

!
|
|
.
!
i
i

31

63.

64.

65.

66.

Pompeii and Herculaneum are
cities.

(A) Greek

(B)\’french

(C)*1talian

(D) Spanish

The expression, “wreaked

havoc”, as used in the passage

means : :

(A) caused changes

(B)_eaused great destruction

(C) caused untold misery

(D) caused a destructive tidal
wave

Which of the following was not a

direct consequence of the

voleanic eruption ?

(A)‘/It%:aused the death of the
residents. :

(B) It changed the course of
River Samo.

(C) It had impact on the world’s

climate.

It raised the level of the

sea-beach along the Bay of

Naples.

D)

Which one of the following

sentences 18 correctly

punctuateg~

(A) e frank; we don’t care
for our nation, do we !

(B) To be frank, we don't care
for our nation, do we ?

(C) To be frank, we don’t care
for our nation ! do we ?

(D) To be frank; we don’t care
for our nation; do we ?

(Continued)



67. When 1

68.

69.

70.

71.

met Manav, he
for ten years.
(A) married
(B) wag married
( ad been married
(D) would have been married

The youngman was wearing a

N jacket.

(A) black, leather, tight
(B;\?ht, leather, black
(ChAlack, tight, leather
(D) tight, black, leather

According to Jﬁ\(

U.S.
embassy  official, e

—_—

U.S.A. wants peace in _ Jlo |

Middle East.

(A) a, the, the
(B)_tHe, the, the
( an, the, the
(g?C a, the, a

Which of the following is an
important stage in the writing
process ?

(A) Memorization
(B)\ Editing

(C) Calligraphy

(D) Comprehension

What  is the fundamental

objective of teaching poetry ?

(A) to utilize new techniques of
teaching.

(B) to entertain the students.

©) give students a chance to
express their emotions and
enjoy them.

(D) to break the monotony of
routine bound life.

OTET/P-1
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72.

73.

74.

75.
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SET:@

Which  of the followin,
statements'is @ rue.

(A{/De‘ﬁelopment is a qualitatiy,
process.

(B) Growth is a biologicy
process.

(C) Education is a goal-orienteq
process.

(D) Learning is a process of
behavioural changes.

humans grow older, the
of learning declines.
The most appropriate word to be

As

used in the blank is :

(A) power

(B) quantity

(C)_speed

(D) quality

e living in Pun
25 years now.

The best pair to be used

respectively in the blanks is -
(A) are, for

(B)_are, since

(C) have been, since *

(D) have been, for

The common order of arrangement
gf adverbs of Time, Place, Manner

18 :

(A) Place, Manner, Time

(B) \Mfcln/ner, Time, Place

©) \WManner, Place, Time

D) Time, Manner, Place
(Continued)
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Read the, following ' passage and
indicate the options that offer the
most appropriate answers to the
questions that follow (Q. 76 to 80) :

Many years ago, when - the art of
stunting plants was quite unheard of
except in remote areas of _India,
Buddhist monks in . 1isolated
monasteries in Tibet stunted trees
like the oak, orange tree, peepal tree,
watching with excitement, the tree

otill flowering and bearing fruit

regardless of this  “deformity”.
Subsequently the art was learnt by
some Chinese monks who taught
“Bonsai” making, an art which
became most sought after in China.
While China and India claimed rights
to the art and its practice, Japan
soon followed, enamoured by 1its
beauty. Today Japan leads in Bonsai
making of plants and has derived
new methodologies to make the
plants look artistic. The bonsai
remains full grown for even more
than ten years although it needs

constant pruning, watering shaping
and conducive environment.

76. The earliest practitioners of the
art of stunting plants belonged
to

Q) I@'yﬁld Tibet
(B) China and Japan
(C) \Indjaand China

(D) India, China and Japan
OTET/P-1
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77. In the passage the expressions,
“unheard of” and “sought after”
are .

(A) noun phrases

(B) c@djective phrases

(C)\/X&verb phrases

(D) phrasal verbs

78. “Stunting means

(Wg plants grow
uxuriantly ‘

(B) arresting the growth of
plants

(C) cutting them down

(D) pruning them down

plants”

79. Which of the  following
statements do not follow from
the passage ?

(A) The of stunting plants

i much in demand i1n

China.

(B) Bonsai plants remain full
grown for over a decade.

(C) Buddhist monks borrowed

e art of stunting plants
from India.

(D) India and China claimed
credit for developing the art
of stunting plants.

80. In the passage, the word,

‘enamoured’ means :

(A) amazed
Mprised
(C) amused
(D) fascinated

(Continued)




81.

82,

83.

84.

The man bumped into the pretty
young lady not

accident, but purpose.
The prepositions to be used in
the above sentence respectively
are :

(ALBy, with

(B) on, by

(C) by, on

(D) in, on

Which of the following is

grammatically acceptable ?

(A) The commandos entered
the enemy territory after
midnight stealthily.

g)}he commandos entered
the enemy territory
stealthily after mid-night.

(C) The commandos entered
stealthily the enemy
territory after midnight.

(D) The commandos entered
after midnight stealthily
the enemy territory.

Which of the
suitable for conducting
Formative Assessment n
scholastic domain ?

(A) Multiple Choice Questions
(B) Oral Questions

(C nversation Skills

(D) Projects

following 1is

What type of evaluation
identifies learning deficiencies of
the learners ?

(A) Summative
(BX_Diagnostic

(C) Continuous

(D) Placement

OTET/P-1
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85.

86.

87.

88.

89.

90.

SET :[ C]

Listening and speaking are

known as __
(A) tmitive skills
(B) Modern skli'!;i‘;
(C), Pfimary skills
(D)\/nganced skills

Apart from the four basic
language skills what are the

“other skills of language ?

(zlg(}earning and memorizing

(B Creativity and in?ag_ination
(C) -Grammar and pnncxples
(D) Thinking and reasoning

We New Delhi by this
time tomorrow. (Fill in the blank)
( ill reach

(%%/::ilﬂll be reaching

(C) will have reached

‘(D) would have reached

The post-modifier in the noun
phrase of the following sentence
18 .

“The man next door is a very
fine gentleman”.

(A "next door

(B) The

(C) very

(D) fine

In the system of language
teaching and learning the

system of constructing words is
called

(A) Semantics
(B)\_Morphology
(C) Syntax
(D) Phonetics

‘In the context of English,
Speaking Skill’ is the ability to
speak English

(A) intelligibly

(B) \confidently

©) courageously

(D) with an English accent

(Continued)
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QeEl QAIPEN 18 6QA, 14 6QF G
16 6Q7 | 9YQ 4 6QA €Ty QIg
A9q 6Q60IT QAR QTR
Qe ?
(A) 58
(B) 63
(C) 42
(D) 48
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91.

92.

The length, breadth & height of
a cuboid are 18 ¢m, 14 ¢cm and
16 cm respectively. How many
cubes having sides 4 cm each
can be cut of this cuboid ?

@) 58

(B) 63

42

(D) 48

In the given graph, find the

92. G¢ 6MHCEQ 40 - 50Q AFYE
QAR @Q:QQQI cumulative frequency of the
50 interval 40 — 50.
50
0 40+
301 »,
201 ’ il
10 .
0 10’ 20 30 40 50 60 70 | 5T 10 20 30 40 50 60 70
@) 40 | @ 0
B) 70 ; B) 170
(C) 110 ! (C) 110
D) 120 | (D) 120

Qe @@l gIe/SPACE FOR ROUGH WORK
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1

nX
3R

B

93. 6QITN QCEIQR QYO ANG

94.

95.

100 697 626R,  IRQ €AQTR
EREE 629 ?

(A) 5000 99 6QH
B) 125 ¢ 6Q8

(€) 1002 24 6
D) 1250 @9 6Qd

7,26, 63, 124, 215, 342, %

N2 AR Kk QINER 60
Q°GNIT QEQ 7 -

(A)
(B)
(C)
D)

041
415
511
521

‘deciR  6AlRe Qe  9ee
QONAQ 2T | N2 gAIE *EQ!
Qe glafie gesa 69 a8e
ULMAR QUL ?

SET : [

) AL 1
l 93. If the sufn of the diagonals of a

94,

95.

square is 100 cm, what will be

its area ?

(A)\/5000 cm?

(B) 125cm?

(C)e2100/2 cm®
(D) 1250 cm?

Which number will lie in place
of % in the given series ?

7, 26, 63, 124, 215, 342, %

(A) 541

(W

(C) 511 -

(D) 521

“Each prime number has two
factors.” What method should be

followed to prove it at the
primary level ?

(A)\Irmductive
(B) Deductive
(C) Analysis

(D) Synthesis

A) A6Qle |
B) 2e6ale |
(C) Q64848 ! |
(D) A°6§8¢ g
Qe @89l gIR/SPACE FOR ROUGH WORK
OTET/P-I 36
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96. 69N AEEQ IQ 9QN 6T ?
A) YINSIAR
(B) 9 Q¢
C) QIR

D) «@}aQ

97. Q010 6941Q R6E FMNEN 16 x 25

Q 9T 39A60 Gda anl

16x25= 8X2x5X5
= 8x5x2x5
= 40x10
= 400
geeq 694 Gang SIS 106

NeLIQ RAT ?

(A) QL6

B) 9Fe 6QId

(C) ISR Qe

D) <9

|
!

|
|
|
|
|
|
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96. Which of the following 1is ‘a

97.

nature of Mathematics ?
(A) Ornamental

(B) ‘«L{g'ical

(C) Philosophical

(D) Difficulty

A .class 3 student performs
multiplication of 16 X 25 as

follows :
16 x25 = 8x2x5x%x5
= 8xH5x2x5b5

40 x 10

= 400
Which property of multiplication
has the student used in this
question ?
(A) Associative
(B) Repeated addition

(C) Inverse multiplication

(Q)/Di/stributive

OTET/P-I
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98. 9@ Qe 69416Q /e Gq g9 98. Following questions are posed

ACR ALIR6R, Qe -

1) Q0% QW g Qa qeQ
6Q19aR 12,

(i) 9@ QYS 2SR @a QIQQ
289191 58 6.

(i) 25Q YINMAR IO 6

(iv) ‘ORQIAr @ /I §'q ?

QA6QIQ 9§ Y@ AuQ :

A @ 6 (i) 99 2R IR 1e°
(i) 8 (iv) 9] QA R
g4 |

B) () 6 (i) 70q QWA e
\Q° (i) B (iv) I8 VIR
g4q |

©) (), (i) G (i) PRY 20 IR
¥8° (iv) 9 AV 99 |

D) @), (i) 6 (iv) Pey Q8
IR NQ° (i) 99 VAN
a9 | ‘

by the teacher in a Mathematics

classroom :

(i) Find two numbers whose
sum is 12. ox*”

(i) Draw a triangle with
perimeter 58 cm.

(iii) Write down the factors of

25. C)o!( .

(iv) What is the definition of
‘Perimeter’ ? tgen - O™

Among the above questions :

A @

and (i11) & (iv) are closed

(ii)' are open ended

ended questions.

( (1) & (i11) are closed ended
and (i) & (iv) are open
ended questions.

€) (), (i) & (i) are closed
ended and (iv) is open
ended questions. ‘

R, (), (i) & (iv) are closed
ended and (i) is open

ended questions.

Qe @Qel gIR/SPACE FOR ROUGH WORK

OTET/P-I
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99.

100.

101.

102.

R66'8§R0Q1 966 LN ANAER
gRGD ARC L] 9B, ST
QEREY 6298 —

(A) AN A6LIAGR *AQ
(B) 8@l Q8 @}

(C) FFNAIRG Y QYS!

(D) S0IQ AARER! *AQ!

g 699 2UA/VAT UGG

QIoNga  ARIK-2005  AQAINT

glafie Yuea 86 Q10Igaa

2898 6% ?

A) 90166Q SRR IR /
6AICRAR ANMG

(B) QAIQ8Y

(C) Q°QQE!

(D) 2gQle

Q2IQ gade Re SUATA @9

6QIM QLI ?

A) e@ge (B) QPIn

©) eAe e (D) <418 Acan

a4 odeg “@RIe €96Q QAT
6QIM &I QY6 ?

99.

100.

101.

102.

SET : [ C

A teacher uses role play method
in Mathematics class. Her aim 18

(ALD%eertaining children

(B) maintaining discipline

(C)@,kee ing children busy
(Dutzecting ideas

Which of the following topics are
not part of the primary school

Mathematics curriculum as per
NCF 2005 ?

(A) Tessellation
(B) Symmetry
(C) Patterns

(D) Ratio”

Who is re.gai'ded as the father of
Demonstrative Geometry ?

(A) Euclid

(B) Samuel

(C) Cunning Ham
(D),\/Bertrand Russel

Who stated Mathematics as the
“Queen of Sciences” ?

(A) Aristotle

i
A) 2AYIN ,
(B) 9f. 94 | B) L. Per§
(©) 6geaR 94 | (C) Friedrich Gauss
] h
D) 2dies | (D)_Aryabhatta

ae @ae gIe/SPACE FOR ROUGH WORK
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103. 8qg AUQ 6960 adea qqo

()

104.

QAR AQO0IQ VAYY 2166 ?

1) <A §9Q 99R91R QGQIsq
QIRINREQ |

(i) 2 90 QR 437 caing

AR A G2 |

N2l ABAINUYR 66 Qa6q

Qg6 |

21 Q901 2RI 6QIRelN |

0Q 3RS QIg

(4) @) 8 (i) 0]

B) () 6 (i) 0]

©) @), Gi) 8 (iii) OQ

D) @) 6 (i) OR -

(111)

AY@-QA, -89, 9g-6alg,

RRI-68IS' ARYIT uIQ4€I 9FQ

(A) 6@QR QIBIQ J6894 ge

B) QR 94 9¢ AW uQql
e |

(C) QR QAN 7T 29g 69

D) QJaele 40 QEe, Qe 9&e
¢RI QIR 21Qeue 68

|
|
|
|
|
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103. Which of the following
statements about nature of
Mathematics are most

104.

appropriate ?

(i) It helps the child to be
creative.

(i) It helps in nurturing the
child’s imagination.

(iy:) It is based on deductive
reasoning.

(iv) It is always convergent.

Choose the correct option.
(A) () & (iid) are true.

(Bm (i1) are true.
©) @), 1) & (}5) are true.
D) (i) & (),1) are true.

Concepts like more-less, far-
near, big-small, long-short etc.
are — |

(A) Simply language adjectives
(B) Important pre-number

concepts ‘
(C{% terms for

comparison

(D) tonyms, not necessary

for learning Mathematics

A% @Qe gIF/SPACE FOR ROUGH WORK

OTET/P-1
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